RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Appropriating and Authorizing Expenditure of Funds to Support Economic Development Activities for O'odham in Mexico)

RESOI	UTI	ONN	0. 2	000-1	50
-------	-----	-----	------	-------	----

•	WILLIAM,	mulauve 114-01-97 authorized certain economic development programs, including
2		the Business Grant program, business education activities, support for individual
3		business owners, and economic development planning; and
4	WHEREAS,	this Initiative also authorized expenditure of gaming funds in support of these
5		activities; and
6	WHEREAS,	the Executive Branch submitted a budget and scope of work for the Economic
7		Development Department to conduct these as program activities during FY 2000; and
8	WHEREAS,	Legislative Council, by means of Resolution 99-359, approved the budget and scope
9		of work for the Economic Development Department and appropriated funds from
10		Gaming Savings to support the budget; and
11	WHEREAS,	the approved budget and scope of work were for delivery of service from the
12		program's offices on the Tohono O'odham Nation; and
13	WHEREAS,	members of the Tohono O'odham Nation living in Mexico have expressed their desire
14		to participate in and benefit from these program activities; and
15	WHEREAS,	delivery of services to O'odham in Mexico will require outreach to the People in their
16		area of residence, new programs materials, and additional services from attorneys,
17		translators, and business consultants; and
18	WHEREAS,	the Economic Development Department has submitted a budget and scope of work
19		for a project to investigate alternative ways the program might provide economic
20		development services to O'odham in Mexico.
21	NOW, THER	EFORE, BE IT RESOLVED by the Legislative Council of the Tohono O'odham Nation
22		that the budget and scope of work submitted by the Economic Development
23		Department for a project to investigate service delivery in Mexico are approved.
24	BE IT FURTE	IER RESOLVED that the Council authorizes the Chairman of the Tohono O'odham
25		Nation to enter into contracts and agreements in support of these activities.
26	BEIT FURT	HER RESOLVED that funds in the amount of \$175,000.00 are appropriated from the
27		Desert Diamond Savings Account.

į	RESOLUTION NO. 2000-150
	(Appropriating and Authorizing Expenditure of Funds to Support Economic Development
	Activities for O'odham in Mexico)
	Page 2 of 3
	BE IT FINALLY RESOLVED that the Council authorizes transfer of these funds to the Initiative
2	Administrative Cost Account, and authorizes their expenditure from this account as
3	part of the overall budget for the Economic Development Department.
4	
	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>03RD.</u>
6	Day of <u>APRIL</u> , <u>2000</u> at a meeting at which a quorum was present with a vote of <u>1.902.6</u> FOR; <u>-0-</u>
	AGAINST; 262.9 NOT VOTING; and [02] ABSENT, pursuant to the powers vested in the Council by
8	Section 1(d)(2) & (3) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by
9	the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant
10 11	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
12	16, 173± (±6 Stat. 36±).
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL
14	
15	
16	Dennis Ramon, Legislative Chairman
17	
18	3rd day of April , 2000
19	<u> </u>
20	
21	
22	ATTEST:
23	
24	
25	Jul Jang
26	Julianna Saraficio, Acting Legislative Secretary
27	
28	03 day of Aml , 20 00.
29	
30	
31	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
32	O'Odham Nation on the 3 ¹² day of <u>April</u> , 20 <u>00</u> at <u>4:54</u> o'clock,
33	\mathcal{P}_{\cdot} .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
34	effective upon his approval or upon his failure to either approve or disapprove it within 48 hours
	of submittal.
35 36	or sucmirmi.
36	TOHONO O'ODHAM LEGISLATIVE COUNCIL
37	TOHONO O ODDAM LEGISLATIVE COUNCIL
38	
39	
40	
41	Dennis Ramon, Legislative Chairman
42	
43	

Activities for O'odham in Mex	ing Expenditure of Funds to Support Economic Develop xico)
Page 3 of 3	
	11th Dea-
[X] APPROVED	on the <u>9 day of light</u> , 20
/	on the 4th day of April , 20 at 8:22 o'clock, A.M.
DISAPPROVED	at $\frac{y}{2} \frac{2}{2}$ o'clock, $\underline{\mathcal{A}}$.M.
	There I had
	LANDEN MANUEL CLASSICAL
	EDWARD D. MANUEL, Chairman
	TOHONO O'ODHAM NATION
Potyumod to the Logiclative	Secretary on the day of
Anil	_, 20_00 , at 9:45 o'clock, A.M.
17.7	, at o clock,m.
July Jan	1
Julianna Saraficio, Acting Lo	
durantia saruneto, recing i	constitute occidenty

ACTION: APPROPRIATING AND AUTHORIZING EXPENDITURE OF FUNDS TO SUPPORT ECONOMIC DEVELOPMENT

ACTIVITIES FOR O'ODHAM IN MEXICO

MOVED: COUNCILWOMAN MARY ANN ANTONE

SECOND: COUNCILWOMAN FERN SALCIDO

DATE: APRIL 03, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew) 2. RITA MARTINEZ	85.9	X			
	(Nicholas Jose)	85.9	X			
SELLS 372.7	1. DENNIS E. JOSE	186.35	x			
	2. EVELYN JUAN ()	186.35	X			
SCHUK TOAK 133.4	1. MARY FLORES	66.7	X			
	2. AMBROSE ENCINAS	66.7	x			
SAN XAVIER	1. TONY BURRELL	82.95	X			
165.9	2. DENNIS RAMON ()	82.95	X			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	Х			X
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI 209.6	CAMILLUS LOPEZ (Louis Johnson)	104.8	X			
	2. ALEX J. RAMON	104.8			x	
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	х			
156.8	2. JOHNSON JOSE ()	78.4	x			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	X			
128.1	2. GLORIA RAMIREZ ()	64.05	x			
GU VO 160.0	1. FERN SALCIDO	80.0	х			
	2. GLORIA MONTANA (Phillip Antone)	80.0	x			
HICKIWAN 158.1	1. ALEX JOSE (Shirley Santos)	79.05			х	X
	2. LLOYD FRANCISCO (Susan Sam)	79.05			x	
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	х			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	X			
Te	OTAL	2,165.5	1,902.6	-0-	262.9	[02]

^{**}PASSED VOTES